7¢I; FiE o H24H 11:25

R B 5H24H 13:05
700m
th=PE0 8k 11.73
I8 thsP R R 12.34
=E0E% 13.3
Fi=x BBEE A 25E + 2 OCIELIEEBE q: ¥4 LIEBAE
[ 148] EE +0.8 [ 248] A& +0.9
J&] L- | No. K £ R4 iR IE=E | [IE] -] No. K £ Z k] 2k
1 5| 8217|#& T 2 14.06 Q 1 8| 8176 #f R (1) 14.60 Q
75 Eh Y3 =% hr T3 a#n
2 6] 7183|KE =7 () 14.53 Q 2 4] 8092|tHRE ZEZX(1) 14.81 Q
th 7/ itk NIED VT EEA
3 4] T811|&MEx XE() 15.43 ¢ 3 70 7843|h L FifE (1) 15.36 ¢
A E 3 EXR +h¥vv )t =BiR
4 7 T7909|7rE FEW) 15. 62 4 3| 8265|FF@E BEE() 15.55
aken 7AY =XB E3% " #sE
5 3| 826275 BEF(X) 16. 24 5 5| 7996 2T ZmEM) 15.69
19ng 194 #a%E YWY vavh i)
6 8| 8177|#m =Z£() 16.59 6 2| 8059|F:E W=E() 15.70
Nyt 39 a0 T % BN
7 2| 8058/@A HE() 18.12 7 6] 7908| EEHT () 16.28
4+h 7Yt X B3VE TAT =&A
[ 3#8] EE +1.9
J&] L-Y | No. K £ R4 O
1 6| 8142lx0 #&() 13.93 Q
525" F 19 3174
2 5| 7907 kxFH EF&HA) 14.65 Q
Th 4 Uk =&A
3 3| 8233/ A HE®M) 15.84
IWEL D EeF0
4 4 T7995|EH =fE() 16. 25
hzh3 ¥Fh 1EHT
5 2| 18T ER ®1EQ) 16. 27
N 7Yh &&B
6 71 80901|== E#£ () 16. 48
Nviké: ERA
BaE -1.2
JIE] b= | No. KE £ i £ Btk WE
1 5| s142la0 &() 14.14
529" F 19 £
2 6] 8217#&T 2 14.17
75 Eh Y3 =%
3 70 7783/ XA ®EA () 14.65
Tth 74/ Giik g
4 4] 8176|#t R E (1) 14.72
s =g
5 9| 7907 kxFH EFHA) 14.83
Th 4 Uk =&A
6 8| 8092|1HE ZEZXR(®) 15.28
NIER BVt EERA
7 2| 78434 L FikE (1) 15.58
Fhve Ut =Bk
8 3| 7811 &l XE() 15.74
A E 3 EXR




1EXF

800m

e E0 8% 2,07.51
IR h2 2R 8% 2,11.83
SERER 2,45.15

] No. K £ B4 iR EE

1 2| 8142|100 &) 2,31.58
925" F 1y B RKEFH

2 5 7996 |2 FEfE(1) 2,49.96
Y8 Yk 15 BT

3 8| 7843\ 1L Fif#E (1) 2,51.56
Thve Ut =Bk

4 41 7994|2@E FH () 2,53.60
1Y% Ftn & T

5 6| 7910/l FAR=EF) 2,56.55
Yv94 133 =XA

6 7| 7876|BBERATE (1) 3,01.32
JYnNg 79h TEA

7 3| 7906 BR RkE() 3,03.50
Y74 I3 =RA

8 11 8115|mE E&EE=() 3,10.18
T4t 7ht O #0

Sy IR FN— S8k
400m 2 1:11

5H24H

[11:05 |




1 EXF EX TH2AE 1350 ]
4x7T00mR

rhEesns% 41. 86
I8 ch2A 0 4% 50. 02
E-FE 58. 2
IE V- PB4 No. K 4 Bk EE
1T 4 =R 7909 E FEW) 1,02.37
13y ahen 7if
7907 kxH#H FHO)
4 vk
7908 EEHITHN)
BIVE TAY

7906 BR M= (1)
Y74 T3




1EXF

B3 [5A24H 12:30 |
ENE Bk
/A
e E0 8% 6.19
IR h2 2R 8% 5.89
SERER 4. 33
IEfL | 38| o - K £ T4 -1- -2- -3- —4- -5- -6- FOEx B%
1 9| 7907|kFH FHEHA) 3.42 2.92 X 3.50 3.717 3.92 3.92
4 Uk =RXA -1.0 -0.9 +2. 4 +1. 4 +1.2 +1.2
2 4] 8092 4E FEZF=E() 3.47 3.28 3.50 3.64 3.71 3.45 3. 71
nen vt EEA -0.4 -1.3 +1.5 +2.8 -1.1 +1.0 -1.1
3| 10| 8217|@&c Z2() 2.87 3.44 3.55 X 3.37 3.49 3.55
7Y Fb 1Y 3 =55 +1. 4 +1.0 -0.1 +1.9 +1.7 -0.1
4 8| 7908 EEHT ) 3.42 3.51 3.42 X 3.37 X 3.51
W3V 7At =RXA -1.7 -0.3 +0.8 +1.6 -0.3
5 6| 7811 |&1k 3CEE) 3.10 3.35 2.95 3.12 3.38 3.38 3.38
M E S R +0. 1 -0.5 +1.6 +2.0 +1.3 +2. 4 +1.3
6 7] 8233|#Mx &K #kE(A) X 2.176 2.179 2.91 2.44 3.07 3.07
YEh TEH e #0 +1.0 +1.2 +0.7 +1.4 +1.1 +1.1
Ji 3| 8091 /== E#H) 2.82 2. 71 2.80 2.64 2.84 2.172 2.84
vh % ERA -0.2 -1.6 +0.8 +0. 1 +1.7 +0. 3 +1.7
8 2| 1812\ i) 2.59 X 2.64 2.60 2.55 X 2.64
YIEh 7YH R +0. 4 +0. 4 +0. 1 +1.2 +0.4
9 5/ 7909\ FZ (1) 2.39 2.47 2.42 2.47
4kkn 7t =XB -0.3 -0.2 +1. 4 -0.2
10 11 8058/EA 33 (1) 2.36 X 2.42 2.42
410 7Yt i +1.5 +1.3 +1.3




